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sentative on the Senate, was received
by the Kerala Education Department.

(b) Representation is given to
Municipalities and Trivandrum Cor-
poration but not to Calicut Corpora-
tion because the latter was not in
existence when the Kerala University
Act was passed.

(e) The question of bringing in sub-
stantial changes in the Kerala Uni-
versity Act is under consideration.
The request of the Calicut Corpora-
tion for representation on the Senate
will be considered when the Draft
Bill to amend the Kerala University
Act is finalised.

Release of D.LE. Prisoners on Parole

220, Shri Mohammed Koya: Will
the Minister of Home Affairs be
pleased to state:

(a) the number of prisoners de-
tained under the Defence of India
Rules who were released on parnle
till 1st August, 1965;

(b)Y if so, the
release; and

reasons for their

{c) the number of persons refused
permission and the T therefor?

The Minister of State in the Minis-
try of Home Affairs (Shri Hathi):
(a) to (c). Information is being col-
lected and will be laid on the Table
of the House.
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